A

ExPpepiTion e

JEEP JK

INSTALLATION GUIDE

Mule Swing Arm Jack Mount




EX FEDITIOMN |':_.'|'.'-.rE

CONTENTS

CONTENTS

Mule Swing Arm JackMount..............o it 3

Disclaimer

Expedition One is not responsible for any damages to vehicle.
We always recommend professional assistance when
installing our vehicle products.



EX FEDITIOMN |':_.'|'.'-.rE

Included Hardware:

(3) 3/8" Button Head Bolts
(3) 3/8"Washers
(3) 3/8" Locking Nuts

Tools:

9/16" Socket or Wrench
7/32" Allen Wrench

Skill Level:

1/5 stars

JEEP JK



EXFEQITION MNE

JEEP JK

Place back bracket around back side of arm as shown to
right. Use two 3/8” bolts, washers and locking nuts to
secure the bracket on the arm with the jack mount.

Use the last bolt, nut and washer and place through the top
hole as shown in photo.




EXFEQITION MNE

JEEP JK

Shown below is the final look with the three bolts secured into place.

| "

B ey &




